Revenge of the Angry Birds


Jedi Knight 1: ________________      Jedi Knight 2: ________________
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Mission 1: 
Discover the quadratic equation for the path of the Angry Bird Jedi Knight.

1. Find the vertex of the path. 

Vertex: (h,k) = (___,___) 

2. Locate two points along the path: 

Point 1: (___,___) 						Point 2: (___,___) 

3. Estimate a value for a (Round to the nearest hundredth, e.g. 4.0243 = 4.02):  
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a = ___________

4. Your estimated quadratic equation: ________________________________________________

Mission 2: 
Find a new quadratic equation that will result in hitting the top tower. 
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